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To exempt it in a public domain — 2°2977 NNWN3 1WIDY

OVERVIEW

X297 maintains that M17% is a 2377 7720 in respect to being exempt from payment
in the 9"71. However, X271 is uncertain whether Mm% is similar to 230 regarding
paying 1>%v:11 12 like 937, Our m»oIN explains this apparent discrepancy.

nooIn asks:
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And if you will say; why is it more obvious to X217 that M717X is Mo in "7,
than being obligated to pay from his estate?

N1B0IN answers:
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And one can say; since according to the law, m1M1X should have paid a @''1 (for it

is a 9317 77710), but the 101 7wn 72%7 comes to teach us that it pays only a 1" -
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It is therefore understood that the n"57 come to be lenient by M™%, but not to

be strict. Therefore m 1% certainly has the leniency of 231, which is that it is 2"772 Mw>.
However, &2 is uncertain whether it has the stringency of %37 to pay n»%¥i1 1 (or perhaps it is
like the 1"17 of 17, which pays only 1D1n).

SUMMARY
According to X27; the n"977 teaches us to be more lenient by m711% than by 231 (to
pay a 1"n [and perhaps only 191%]). It certainly retains the X9 of 537 (1"'7172 101Y5).

THINKING IT OVER
Why does not 827 maintain that MM7¥ pays 191, since we see that the n"777 is
lenient by Mm% (just as X171 maintains that MMAx is 1"772 Mwo) 21

2. How can we derive from this n1»0In that the Mo of 1" W in the 7"77 1s a DT
21027, and not (merely) a X720 that it is natural for them to be in the "7

!'937 is both M2 in 7" and requires a payment (P37 MwIa) 779vA . Regarding mx, which is a 9377 A7,
(even) X271 maintains that it is 7"772 71w» like 937, However, X237 is uncertain whether M1 pays 7°°9v17 11, which is
(also) a requirement by 37. Why (concerning nm¥) is X237 certain regarding the exemption in the 7"77, and
uncertain regarding the obligation to pay 1%y 11?

* See mwn nonl.
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